



RADIUS OF CONVEXITY OF SECTIONS OF A SUBCLASS OF STARLIKE FUNCTIONS

S. SUNIL VARMA and THOMAS ROSY

Department of Mathematics
Madras Christian College
Tambaram, Chennai-600059
Tamil Nadu, India
E-mail: sunu_79@yahoo.com
thomas.rosy@gmail.com

Abstract

In this article we show that every section of certain subclass \mathcal{H} of the class $\mathcal{H}_n(\alpha, \beta)$ of starlike functions are convex in the disk $|z| < \frac{1}{4}$.

1. Introduction

Let \mathcal{A}_n be the class of analytic functions f defined on the unit disk $\Delta = \{z \in \mathbb{C} : |z| < 1\}$ with Taylor's series expansion of the form

$$f(z) = z + \sum_{k=n+1}^{\infty} a_k z^k, \quad (n \in \mathbb{N} := \{1, 2, 3, \dots\}). \quad (1)$$

Let \mathcal{A} denote the subclass \mathcal{A}_1 of \mathcal{A}_n consisting of functions $f(z) = z + \sum_{n=2}^{\infty} a_n z^n$ and \mathcal{S} denote the subclass of it containing univalent functions [2]. In [3], Srivastava et al. introduced the subclass $\mathcal{H}_n(\alpha, \beta)$ of \mathcal{A}_n consisting of functions in \mathcal{A}_n satisfying

2010 Mathematics Subject Classification: 30C45.

Keywords: Analytic functions, Section, Radius of convexity.

Received November 7, 2019; Accepted May 27, 2020

$$\Re\left(\frac{\alpha z^2 f''(z) + z f'(z)}{f(z)}\right) > \alpha\beta\left(\beta + \frac{n}{2} - 1\right) + \beta - \frac{n\alpha}{2},$$

where $\alpha \geq 0$; $0 \leq \beta < 1$; $z \in \Delta$. Putting $n = 1$, $\alpha = 1$, $\beta = 0$ we obtain the subclass $\mathcal{H} = \mathcal{H}_1(1, 0)$ and $\mathcal{H}_n(\alpha, \beta)$ consisting of $f \in \mathcal{A}$ satisfying

$$\Re\left(\frac{z^2 f''(z) + z f'(z)}{f(z)}\right) > -\frac{1}{2}.$$

Functions in this subclass are known to be starlike [6]. The sections of $f \in \mathcal{A}$ are defined as

$$s_n(z) = z + \sum_{k=1}^n a_k z^k.$$

An interesting problem in univalent function theory is to estimate the radius of the largest disk inside the unit disk within which the sections of functions in a subclass satisfy certain geometric properties like univalence, starlikeness, convexity etc. Szego in [7] had proved that the partial sums of univalent functions $f \in \mathcal{S}$ are univalent in the disk $|z| < \frac{1}{4}$. Following this, several authors have obtained the radius of convexity of sections of functions in several subclasses [1, 4, 5]. In this paper, we prove that the sections of functions in the class \mathcal{H} are convex in the disk $|z| < \frac{1}{4}$.

Lemma 1.1. *Let $f = z + \sum_{n=2}^{\infty} a_n z^n \in \mathcal{H}$. Then*

$$(i) \quad |a_n| \leq \frac{\prod_{j=1}^{n-1} \frac{j^2 + 2}{j + 2}}{(n-1)!} \quad \text{and} \quad \text{equality holds for}$$

$$f(z) = z + \sum_{n=2}^{\infty} \frac{\prod_{j=1}^{n-1} \frac{j^2 + 2}{j + 2}}{(n-1)!} z^n.$$

$$(ii) \quad \left| \frac{zf'(z)}{f(z)} \right| \leq \frac{\sum_{n=2}^{\infty} \frac{n}{(n-2)!} \prod_{j=1}^{n-1} \frac{j^2+2}{j+2} r^n}{r - \sum_{n=2}^{\infty} \frac{n}{(n-2)!} \prod_{j=1}^{n-1} \frac{j^2+2}{j+2} r^n} \quad \text{for } |z| = r < 1. \quad \text{The}$$

inequality is sharp.

$$(iii) \quad 1 - \sum_{n=2}^{\infty} \frac{n}{(n-1)!} \prod_{j=1}^{n-1} \frac{j^2+2}{j+2} r^{n-1} \leq |f'(z)| \leq 1 + \sum_{n=2}^{\infty} \frac{n}{(n-1)!} \prod_{j=1}^{n-1} \frac{j^2+2}{j+2} r^{n-1}$$

for $|z| = r < 1$. The inequality is sharp.

(iv) If $f(z) = s_n(z) + \sigma_n(z)$, with $\sigma_n(z) = \sum_{k=n+1}^{\infty} a_k z^k$, then for $|z| = r < 1$, we have

$$|\sigma_n(z)| \leq \sum_{k=n+1}^{\infty} \frac{k}{(k-1)!} \prod_{j=1}^{k-1} \frac{j^2+2}{j+2} r^{k-1}.$$

and

$$|z\sigma_n''(z)| \leq \sum_{k=n+1}^{\infty} \frac{k}{(k-2)!} \prod_{j=1}^{k-1} \frac{j^2+2}{j+2} r^{k-1}.$$

2 Main Theorem

Theorem 2.1. Every section of $f \in \mathcal{H}$ is convex in the disk $|z| < \frac{1}{4}$. The radius $\frac{1}{4}$ cannot be replaced by a greater number.

Proof. Let $f(z) = z + \sum_{n=2}^{\infty} a_n z^n$ be an arbitrary function in the class \mathcal{H} . Then $s_2(z) = z + a_2 z^2$ and

$$\Re\left(1 + \frac{zs''_2(z)}{s'_2(z)}\right) \geq 1 - \frac{2|a_2||z|}{1 - 2|a_2||z|}.$$

Since for $f \in \mathcal{H}$, $|a_2| \leq 1$ and hence

$$\Re\left(1 + \frac{zs''_2(z)}{s'_2(z)}\right) \geq 1 - \frac{2|z|}{1-2|z|}.$$

which is positive if $|z| < \frac{1}{4}$. Thus $s_2(z)$ is convex in the disk $|z| < \frac{1}{4}$. To prove that this is the best possible radius, consider the function

$$f_0(z) = z + \sum_{n=2}^{\infty} \frac{\prod_{j=1}^{n-1} \frac{j^2+2}{j+2}}{(n-1)!} z^n.$$

and the corresponding second partial sum $s_2(f_0)(z) = z + z^2$. At $z = -\frac{1}{4}$,

$$\Re\left(1 + \frac{zs''_{2,f_0}(z)}{s'_{2,f_0}(z)}\right) = \Re\left(\frac{1+4z}{1+2z}\right) = 0.$$

We now show that the third partial sum $s_3(z) = z + a_2z^2 + a_3z^3$ of $f \in \mathcal{H}$ is convex in the disk $|z| < \frac{1}{4}$.

If $f \in \mathcal{H}$ then there is a positive function $p(z) = 1 + p_1z + p_2z^2 + \dots$ such that

$$\frac{1}{2} + \frac{zf'(z) + z^2f''(z)}{f(z)} = \frac{3}{2}p(z).$$

Substituting the Taylor's series for f and p and equating the coefficients gives

$$p_1 = 2a_2, \quad p_2 = \frac{14}{3}a_3 - a_2^2.$$

Using the fact that $|p_1| \leq 2$ and $|p_2| \leq 2$ we obtain

$$a_2 = \alpha, \quad a_3 = \frac{1}{7}(\beta + 3\alpha^2)$$

where $|\alpha| \leq 1$ and $|\beta| \leq 1$.

Now we show that

$$\Re\left(1 + \frac{zs''_3(z)}{s'_2(z)}\right) = \Re\left(\frac{1 + 4a_2z + 9a_3z^2}{1 + 2a_2z + 3a_3z^2}\right) > 0$$

in $|z| < \frac{1}{4}$.

Since $\Re\left(\frac{1 + 4a_2z + 9a_3z^2}{1 + 2a_2z + 3a_3z^2}\right)$ is harmonic in $|z| < \frac{1}{4}$, it is enough to check

that

$$\Re\left(\frac{1 + 4a_2z + 9a_3z^2}{1 + 2a_2z + 3a_3z^2}\right) > 0 \tag{3}$$

for $|z| = \frac{1}{4}$.

Note that

$$\Re\left(\frac{1 + 4a_2z + 9a_3z^2}{1 + 2a_2z + 3a_3z^2}\right) = 2 - \Re\left(\frac{1 - 3a_3z^2}{1 + 2a_2z + 3a_3z^2}\right) \geq 2 - \left|\frac{1 - 3a_3z^2}{1 + 2a_2z + 3a_3z^2}\right|.$$

By considering a suitable rotation of f it is enough to verify (3) for $z = \frac{1}{4}$. In other words we must prove that

$$2 > \left|\frac{16 - 3a_3}{16 + 8a_2 + 3a_3}\right|.$$

Substituting the values of a_2 and a_3 from (2) it is enough to verify that

$$2\left|16 + 8\alpha + \frac{3}{7}\beta + \frac{9}{7}\alpha^2\right| > \left|16 - \frac{3}{7}\beta - \frac{9}{7}\alpha^2\right|.$$

for $|\alpha| = 1$ and $\beta = 1$. Using triangle inequality the above inequality follows if we prove

$$2\left|16 + 8\alpha + \frac{9}{7}\alpha^2\right| - \frac{9}{7} > \left|16 - \frac{9}{7}\alpha^2\right|.$$

Since $|\alpha| = 1$, the above inequality is equivalent to proving

$$2|112\bar{\alpha} + 56 + 9\alpha| - |112\bar{\alpha} - 9\alpha| > 9.$$

Putting $\Re(\alpha) = x$ it remains to show that

$$2\sqrt{4032x^2 + 13552x + 13745} - \sqrt{14641 - 4032x^2} > 9.$$

for $-1 \leq x \leq 1$.

Let $G(x) = 2\sqrt{4032x^2 + 13552x + 13745} - \sqrt{14641 - 4032x^2}$,
 $G_1(x) = 4032x^2 + 13552x + 13745$ and $G_2(x) = 14641 - 4032x^2$. Then

$$G(x) = \sqrt{G_1(x)} - \sqrt{G_2(x)}.$$

$G_1(x)$ is positive and increasing in $[-1, 1]$ with

$$G_1(x) \geq G_1(-1) = 4225.$$

Similarly $G_2(x)$ is also positive and attains its maximum at $x = 0$ in $[-1, 1]$. Hence $G_2(x) \leq G_2(0) = 14641$. Therefore for $x \in [-1, 1]$

$$G(x) = 2\sqrt{G_1(x)} - \sqrt{G_2(x)} > 2\sqrt{G_1(-1)} - \sqrt{G_2(0)} = 9.$$

Thus we have proved that $\Re\left(1 + \frac{zs''_3(z)}{s'_3(z)}\right) > 0$ in $|z| < \frac{1}{4}$.

We now prove that $\Re\left(1 + \frac{zs''_n(z)}{s'_n(z)}\right) > 0$ for $n \geq 4$ in $|z| < \frac{1}{4}$.

It is enough to show that $\Re\left(1 + \frac{zs''_n(z)}{s'_n(z)}\right) > 0$ hold for all $n \geq 4$ for $r = \frac{1}{4}$ thereby the conclusion follows by maximum principle.

Any $f(z) = z + \sum_{n=2}^{\infty} z^n$ can be written as

$$f(z) = S_n(z) + \sigma_n(z)$$

with $\sigma_n(z) = \sum_{k=n+1}^{\infty} a_k z^k$. Then

$$\Re\left(1 + \frac{s''_n(z)}{s'_n(z)}\right) = \Re\left(1 + \frac{z[f''(z) - \sigma''_n(z)]}{[f'(z) - \sigma'_n(z)]}\right)$$

$$\begin{aligned}
 &= \Re \left(1 + \frac{zf''(z)}{f'(z)} + \frac{\frac{zf''(z)}{f'(z)} \sigma'_n(z) - z\sigma''_n(z)}{f'(z) - \sigma'_n(z)} \right) \\
 &\geq 1 - \frac{\left| \frac{zf''(z)}{f'(z)} \right| - \frac{\left| \frac{zf''(z)}{f'(z)} \right| |\sigma'_n(z)| - |z\sigma''_n(z)|}{|f'(z)| - |\sigma'_n(z)|} \\
 &\geq 1 - \frac{\sum_{n=2}^{\infty} \frac{n}{(n-2)!} \prod_{j=1}^{n-1} \frac{j^2+2}{j+2} r^{n-1}}{1 - \sum_{n=2}^{\infty} \frac{n}{(n-1)!} \prod_{j=1}^{n-1} \frac{j^2+2}{j+2} r^{n-1}} \\
 &\quad \frac{\sum_{n=2}^{\infty} \frac{n}{(n-2)!} \prod_{j=1}^{n-1} \frac{j^2+2}{j+2} r^{n-1}}{1 - \sum_{n=2}^{\infty} \frac{n}{(n-2)!} \prod_{j=1}^{n-1} \frac{j^2+2}{j+2} r^{n-1}} \\
 &\quad + \frac{\sum_{n=2}^{\infty} \frac{k}{(k-2)!} \prod_{j=1}^{k-1} \frac{j^2+2}{j+2} r^{k-1}}{1 - \sum_{k=2}^n \frac{k}{(k-2)!} \prod_{j=1}^{k-1} \frac{j^2+2}{j+2} r^{k-1}} \\
 &= \frac{1 - \sum_{n=2}^{\infty} \frac{n^2}{(n-2)!} \prod_{j=1}^{n-1} \frac{j^2+2}{j+2} r^{n-1}}{1 - \sum_{n=2}^{\infty} \frac{n}{(n-2)!} \prod_{j=1}^{n-1} \frac{j^2+2}{j+2} r^{n-1}} \\
 &\quad \frac{\sum_{n=2}^{\infty} \frac{n}{(n-2)!} \prod_{j=1}^{n-1} \frac{j^2+2}{j+2} r^{n-1}}{1 - \sum_{n=2}^{\infty} \frac{n}{(n-2)!} \prod_{j=1}^{n-1} \frac{j^2+2}{j+2} r^{n-1}} \\
 &\quad + \frac{\sum_{n=2}^{\infty} \frac{k}{(k-2)!} \prod_{j=1}^{k-1} \frac{j^2+2}{j+2} r^{k-1}}{1 - \sum_{k=2}^n \frac{n}{(k-2)!} \prod_{j=1}^{k-1} \frac{j^2+2}{j+2} r^{k-1}}.
 \end{aligned}$$

It is enough to show that

$$\begin{aligned}
& \frac{1 - \sum_{n=2}^{\infty} \frac{n^2}{(n-2)!} \prod_{j=1}^{n-1} \frac{j^2+2}{j+2} r^{n-1}}{1 - \sum_{n=2}^{\infty} \frac{n}{(n-2)!} \prod_{j=1}^{n-1} \frac{j^2+2}{j+2} r^{n-1}} \\
& \frac{\sum_{n=2}^{\infty} \frac{n}{(n-2)!} \prod_{j=1}^{n-1} \frac{j^2+2}{j+2} r^{n-1}}{1 - \sum_{n=2}^{\infty} \frac{n}{(n-1)!} \prod_{j=1}^{n-1} \frac{j^2+2}{j+2} r^{n-1}} + \sum_{k=n+1}^{\infty} \frac{k}{(k-2)!} \prod_{j=1}^{k-1} \frac{j^2+2}{j+2} r^{k-1} \\
& \frac{\quad}{1 - \sum_{k=2}^n \frac{k}{(k-2)!} \prod_{j=1}^{k-1} \frac{j^2+2}{j+2} r^{k-1}} > 0.
\end{aligned}$$

We prove that (4) holds for all $n \geq 4$ for $r = \frac{1}{4}$ which is same as proving

$$\begin{aligned}
& \frac{1 - \sum_{n=2}^{\infty} \frac{n^2}{(n-2)!} \prod_{j=1}^{n-1} \frac{j^2+2}{j+2} \left(\frac{1}{4}\right)^{n-1}}{1 - \sum_{n=2}^{\infty} \frac{n}{(n-2)!} \prod_{j=1}^{n-1} \frac{j^2+2}{j+2} \left(\frac{1}{4}\right)^{n-1}} \\
& \frac{\sum_{n=2}^{\infty} \frac{n}{(n-2)!} \prod_{j=1}^{n-1} \frac{j^2+2}{j+2} \left(\frac{1}{4}\right)^{n-1}}{1 - \sum_{n=2}^{\infty} \frac{n}{(n-1)!} \prod_{j=1}^{n-1} \frac{j^2+2}{j+2} \left(\frac{1}{4}\right)^{n-1}} \\
& + \sum_{k=n+1}^{\infty} \frac{k}{(k-2)!} \prod_{j=1}^{k-1} \frac{j^2+2}{j+2} \left(\frac{1}{4}\right)^{k-1} \\
& \frac{\quad}{1 - \sum_{k=2}^n \frac{n}{(k-2)!} \prod_{j=1}^{k-1} \frac{j^2+2}{j+2} \left(\frac{1}{4}\right)^{k-1}} > 0 \tag{4}
\end{aligned}$$

for $n \geq 4$. Let

$$G(n) = \frac{1 - \sum_{n=2}^{\infty} \frac{n^2}{(n-2)!} \prod_{j=1}^{n-1} \frac{j^2+2}{j+2} \left(\frac{1}{4}\right)^{n-1}}{1 - \sum_{n=2}^{\infty} \frac{n}{(n-1)!} \prod_{j=1}^{n-1} \frac{j^2+2}{j+2} \left(\frac{1}{4}\right)^{n-1}}$$

$$\frac{\sum_{n=2}^{\infty} \frac{n}{(n-2)!} \prod_{j=1}^{n-1} \frac{j^2+2}{j+2} \left(\frac{1}{4}\right)^{n-1}}{1 - \sum_{n=2}^{\infty} \frac{n}{(n-1)!} \prod_{j=1}^{n-1} \frac{j^2+2}{j+2} \left(\frac{1}{4}\right)^{n-1}} + \sum_{k=n+1}^{\infty} \frac{k}{(k-2)!} \frac{\prod_{j=1}^{k-1} \frac{j^2+2}{j+2} \left(\frac{1}{4}\right)^{k-1}}{1 - \sum_{k=2}^n \frac{n}{(k-2)!} \prod_{j=1}^{k-1} \frac{j^2+2}{j+2} \left(\frac{1}{4}\right)^{k-1}}.$$

Then we must prove that $G(n) > 0$ for $n \geq 4$. For $n = 4, 5, 6$ we have $G(4) \approx 0.23704$, $G(5) \approx 0.24598$, $G(6) \approx 0.24701$. Thus $G(n)$ is increasing and non-negative for all $n \geq 4$.

Hence for $f \in \mathcal{H}$, $s_n(z)$ is convex for all $n \geq 4$.

References

- [1] S. Agrawal and S. K. Sahoo, Radius of convexity of partial sums of odd functions in the close-to-convex family, *Filomat* 31(11) (2017), 3519-3529.
- [2] P. L. Duren, *Univalent functions*, Springer Verlag, New York. Inc. (1983).
- [3] M. S. Liu, Y. C. Zhu and H. M. Srivastava, Properties of certain subclasses of starlike functions of order β , *mathematical and Computer Modelling* 48 (2008), 402-419.
- [4] S. Maharana, J. K. Prajapath and H. M. Srivastava, The radius of convexity of partial sums of convex functions in one direction, *Proceedings of National Academy of Sciences, Series A, Physical Sciences*,
- [5] S. Ponnusamy, S. K. Sahoo and H. Yanagihara, Radius of convexity of partial sums of functions in the close-to-convex family, *Nonlinear Analysis* 95 (2014), 219-228.
- [6] C. Ramesha, S. Kumar and K. S. Padmanabhan, A sufficient condition for starlikeness, *Chinese Journal of Mathematics* 23 (1995), 167-171.
- [7] G. Szego, Zur Theorie der schlichten Abbildungen, *Mathematics Annalen* 100(1) (1928), 188-211.